69

MSSNALPON KW



70




Joist Hangers TR

MT-JH-02-12-090

B

T-JH-02-08-090

T-JH-02-06-090
MT-JH-02-04-090

Standard Material | A36 Low Carbon Steel H G
Standard Finish | 10 - Zinc Clear |
Available Finish(es) 10-12, 20-33
Hole Size 11716” (17.46mm) | 1/2" Bolt Hole (12.7mm) | .20" Screw Hole (5.08mm) M R

Recommended 5/8"-11 Thread Grade 8 Bolt, 2" Long | 5/8" SAE Zinc-Plated Washer | 5/8"-11 Thread, Grade 8 Hex Nut |
Hardware #10 Wood Screw, 1.25” Long | 1/2"-13 Grade 5 Hex Bolt, 3" Long | 1/2" SAE Zinc-Plated Washer | 1/2"-13 Thread, Grade 5 Hex Nut
(M16 x 2 Thread, 50mm Long, Class 10.9 Bolt | M16, Class 10.9 Washer | M16 x 2 Thread, Class 10.9 Nut)

Recommended Tools | Tool Kit1 | 1/2” Drill Bit | 3/4" Combination Wrench | 3/4" Deep Well Socket , 1/2" Drive

PR

For More Info | www.ModTruss.com AC
Part # Size Weight
Description H W
MT-JH-02-12-090 |4.75"x3.13"x 11.38" 3.40lbs (1.54kg) | /Joist Hanger Fits Nominal 2" x 12" Lumber S—
20125 90° (120 07mm x 79.50mm x 289 05mm) (Actual size 1.5” x 11.25” - 38mm x 286mm) as defined by the ALSC
MT-JH-02-08-090 |[4.75"x3.13"x7.38" 2.30Ibs (1.04kg) | Joist Hanger fits Nominal 2" x 8 Lumber
v 8 x90° (1 20.07mm x 79.50mm x 187.45mm) (Actual size 1.5” x 7.25” - 38mm x 184mm) as defined by the ALSC T K
MT-JH-02-06-090 | 4.75"x3.13"x5.63" 1.70Ibs (0.77kg) | Joist Hanger fits Nominal 2 x 6" Lumber '
2 X6 1 90° (120.07mm % 79.50mm x 143.00mm) (Actual size 1.5” x 5.5” - 38mm x 140mm) as defined by the ALSC
MT-JH-02-04-090 |4.75"x3.13"x3.63" 1.10lbs (0.50kg) | Joist Hanger Fits Nominal 2* x 4° Lumber
P’y 90° (120.07mm % 79.50mm x 92-20mm) (Actual size 1.5" x 3.5” - 38mm x 89mm) as defined by the ALSC M H

o 0 FH

In Stock Reusable Serialized & Traceable

||l1 Tf; j' ModTruss.-- U.S. Patent No. 8,418,425 & other patents pending




060-XX-COHIIW aamann v 060-80-C0-Hr-1W

SYIONVH LSIOr

‘NOILdI¥OS3a

060-90-CO0-Hl-1W

IA zo,m_ai 810z/c1/8

060-CL-CO-Hl-1IW

WW NI 38Y SNOISNIWIQ [1 1330vae | _ - mm:..-l—.ﬂu _UE
[65'1] 90°F - GIW - TIATTNOISIDI¥

Joist Hangers

Product Number | MT-JH-02-XX-090

Series |

060-¥0-CO-Hl-1W

]

7 . N .
e8] o5 y @
05°€
* " L -t :
i ]
[06'88] R ﬁomwm 1] e [05'e9] ?www ! ! [0¢'83] wmm.m_w § : @ T
05°e ’ : .
mw o 05T | o5t ¢ [sTs6]
o o * i

0s WM_.& L* TK.N.L ﬁw_.ﬂ \LT WK.N.L @/L&/’

05 €l 05 N [orzl]
[81€] T 05"
el
lorse] _ | |
0s'l
[orseg] ﬁoo_%_m : \@]@ ,
e . AT IBRES
ou 2\ s +
[9v 1] — ! . o | . g [60'] N o 4 [s0] ol e T
9 + + . [97°21] . [050)  [ggpe] o7 (5 o 0\ +
% Ww%m& 69 /mw + 00e e N o| 0292 @mww; \ . [857z82]
+ @‘lﬂ . . | oot \@ o el
[s0§] [0z92) + [sos] R g N f [ov°21] \ ‘ ‘
0z 00 o [0z'94] preg_ /| ’ 69 ¥ e
[s9°0z1] 00'€ &7 loz9s |_|
SLY Ww.omg 00
™ S/ = | [evoel] | [029]
SLY 00€
| [svozl] |
Ly

'SSNULPON £l

U.S. Patent No. 8,418,425 & other patents pending




	Tom sida



